Watch the video segment and guess what might have happened

to the characters. Check the options you believe are possible

explanations for the characters’ current situation.

( x) Jen might have taken too many tranquilizers in the previous night.

( x) Her daughter might have had a domestic accident.

() Jen can’t have hurt her daughter.

() Jen’s daughter might have hurt herself.

() Jen’s husband, Jim, must have died.

() Jim might have died in a car accident.

() Jen might have hit her head on the floor and can’t remember anything.

() One of the children can’t have been attacked by a mad dog.

Now rewrite these sentences using past modal verbs to express
probability/ possibility/ impossibility.



